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1-6構造図

矩計図

小屋伏図



ｗ＝（固定＋積雪）=(50＋900 )×1.0=950
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N/mw =（固定＋積雪）=(90+900 )×
2

0.599+1.109
=845.5

N･mw ･l2 =
8

1
×845.5×2.8 2=828.6

w･l2=
128

9
×845.5×2.8 2=466.1

w･l=
2

1
×845.5×2.80=1184 N
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w0= 90 N/m 2

w =49.8 N/m（梁自重）
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w0 =90 =990 N/m 2

α= 
90

990
=11

∴ M =11×0.3=3.3 N･m

  N =11×504+184.7=5729 N

δ=
I

11×1.772
+

I

0.1585
=
I

19.65

11×1.772+0.1585=19.65





N =-8.204×504+184.7=-3950 N

-8.204×1.772+0.1585=-14.38δ= 
I

-8.204×1.772
+

I

0.1585
=

I

-13.73





§5　基礎の設計

積雪時にて検討する

        基礎面積　 A=0.60×0.60=0.36 ㎡

        基礎自重　 N =23×0.36×0.45=3.726F kN

積雪荷重 N =7.407'
kN

N=N +N =5.729+3.726=9.455'
F kN合計荷重 

　　　　


